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SOCIOLOGY

( Major )

Paper : 6.4

( Sociology of Kinship )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

PART—A

( Traditional )

1. Answer very briefly : 1×5=5

"[t¡ W¡³åîA¡ l¡üv¡¹ [ƒÚà :

(a) What is Anuloma?

">åìºà³ [A¡?

(b) What is inheritance?

l¡üv¡¹à[‹A¡à¹ [A¡?

(  2  )

(c) What is polyandry?

¤×š[t¡ [¤¤àÒ [A¡?

(d) Give any one example of a patrilineal
tribe.

[™ ëA¡àì>à &i¡à ³àtõ¡ÎèyãÚ \>ìKàË¡ã¹ l¡üƒàÒ¹o [ƒÚà¡ú

(e) What is hypogamy?

šø[t¡ìºà³ [¤¤àÒ [A¡?

2. Answer in brief : 2×5=10

W¡³åîA¡ l¡üv¡¹ [ƒÚà :

(a) What is bride wealth?

A¡Òü>à-‹> [A¡?

(b) What is the difference between
endogamy and exogamy?

"”z[¤¢¤àÒ "à¹ç¡ ¤[Ò[¤¢¤àÒ¹ ³à\t¡ [A¡ šà=¢A¡¸ "àìá?

(c) What is incest?

"\àW¡à¹ [A¡?

(d) What is matrilineal descent?

³àtõ¡ÎèyãÚ ¤}Å "‹–yû¡³ [A¡?

(e) Define family.

š[¹Úàº¹ Î}`¡à [ƒÚà¡ú
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3. Write short notes on any three of the
following : 5×3=15

t¡º¹ [™ ëA¡àì>à [t¡[>i¡à¹ *š¹t¡ W¡³å ëi¡àA¡à [ºJà :

(a) Differences between dowry and bride
wealth

A¡Òü>à-‹> "à¹ç¡ ë™ïtå¡A¡¹ ³à\¹ šà=¢A¡¸Î³èÒ

(b) Neo-local family

>¯-Ñ‚à>ãÚ š[¹Úàº

(c) Marriage as a sacrament

&A¡ š[¤y A¡à™¢ [ÒW¡àìš [¤¤àÒ

(d) Gay and Lesbian family

Î³A¡à³ã šå¹ç¡È "à¹ç¡ Î³A¡à³ã ³[Òºà š[¹Úàº

(e) Functions of family

š[¹Úàº¹ A¡à™¢Î³èÒ

PART—B

( Innovative )

4. Answer any three of the following
questions : 10×3=30

t¡º¹ [™ ëA¡àì>à [t¡[>i¡à šøÅ¥¹ l¡üv¡¹ [ƒÚà :

(a) Describe the matrilineal system of
kinship with special reference to the
Khasi community of India.

®¡à¹t¡¹ JàW¡ã Î³à\¹ [¤ìÅÈ l¡ü‡ýõ¡[t¡ [ƒ ³àtõ¡ÎèyãÚ Ñ¬\>
¤¸¯Ñ‚à ¤¸àJ¸à A¡¹à¡ú

(  4  )

(b) Discuss the influence of patriarchy on
child socialization in Indian society.

[ÅÇ¡ Î³à\ãA¡¹ot¡ šå¹ç¡Èt¡”|¹ šø®¡à¯ ®¡à¹t¡ãÚ Î³à\t¡
[A¡ƒì¹ š[¹º[Û¡t¡ ÒÚ t¡àA¡ ¤¸àJ¸à A¡¹à¡ú

(c) “Family is fundamental of society.”

Discuss the above statement in the
context to the changing structure and
function of the institution of family in
the 21st century India.

‘‘š[¹Úàº Î³à\¹ ¤àì¤ "š[¹Òà™¢¡ú’’

&A¡[¤}Å Å[t¡A¡à¹ ®¡à¹t¡t¡ š[¹Úàº¹ A¡à™¢ "à¹ç¡ Î}¹W¡>à
[A¡ƒì¹ š[¹¯t¢¡> íÒìá ëÎÒü šøÎUt¡ l¡üv¡û¡ l¡ü[v¡û¡ìi¡à ¤¸àJ¸à
A¡¹à¡ú

(d) “Women have always fallen victim to
the social order of patriarch and
dominance.” Discuss.

‘‘³[ÒºàÎA¡º ÎƒàìÚÒü šå¹ç¡Èt¡”| "à¹ç¡ "à[‹št¡¸¹
Îà³à[\A¡ ¤¸¯Ñ‚à¹ ®å¡v¡û¡ì®¡àKã¡ú’’ l¡ü[v¡û¡ìi¡à "àìºàW¡>à
A¡¹à¡ú

(e) Discuss the factors affecting the
traditional Indian marriage institution
in the light of industrialization,
urbanization, education and legislation.

l¡üìƒ¸àKãA¡¹o, >K¹ãA¡¹o, [ÅÛ¡à "à¹ç¡ "àÒü>¹ [®¡[v¡t¡
®¡à¹t¡ãÚ [¤¤àÒ ¤¸¯Ñ‚àt¡ šø®¡à¯ ëšìºà¯à [¤[®¡Ä
A¡à¹A¡Î³èÒ "àìºàW¡>à A¡¹à¡ú
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